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3 Jlgu

The balanced net ionic equation for Jelsi (3o CaCO3 s il i) gall b puall 43 5:¥1 Alaladll
precipitation of CaCOs3 1 0Ll sl
when aqueous solutions of Na,CO3 and Na>COs_sCaClz
CaCl; are mixed is U .

A. 2Na*(aq)+CO,* (aq) > Na, CO, (aq)

B.
Na,CO,(aq) +CaCl, (aq) = 2NaCl (aq) +CaCO,(s)

Ca’"(aq)+CO:*"(aq) — CaCO ,(s)

D. Na™ (aq)+Cl (aq) — NaCl (aq)




2 J1guu

When H,SO4 and Ba(OH), are reacted 1n a
double replacement reaction, one of the
products of the reaction is...

Jeld -3 Ba(OH); s HySO4 (e IS Jelaly Ladic
............. oo Jelall 138 =il g8 aal ¢ 50 e Jlagiad

A. H;

BaH

B.
C. Bas
D. H;0

wD



4 Jlguw

What are the spectator ions in the balanced
chemical equation below?

¢ slin) Ailea Sl Aloleadl 8 da jaiall il oY) L

CaCl,(aq) + K,CO,(aq) — 2KCl(aq) + CaCO,(s)

K*, COs*

K", CI

Ca’, CI

O|N|m P

Ca*, COs*




1 Jlqu

What are the spectator ions in the reaction O SIS G delaill 8 da il <l g L
between KOH (aq) and HNOs3 (aq)? *HNO3 (aq)s KOH (aq)

A. K, H*

B. K',NOs
C. H',OH
D. H*,NOs




SECTION 3:Reactions in Aqueous Solutions dyilall Jullaall g8 Gilelaill :3 puwdll B

Chemical reactions diilioaall Glelaill ;gupall @
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35 dajall | pylwill o7 @
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What are the spectator ions in the reaction O DS G Jelail) 8 ds el e L
between NaOH (aq) and HC2H30: (aq)? * HC2H30: (aq)s NaOH (aq)
A. Na*, OH
B. NEL chgﬂz_
C. OH ONLY
D. Na® ONLY




